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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 77 7 e ER F 9 A% F W @ F st & § R 9fEw
1 HFEET T33,650 ¥ O TRER IR AR AR ST W v 7 A
e o == &

Expenditure of Family

wucation  Medical W Provident Fund

Expenditure of family - 91 @=r

Provident Fund - stfasor f@fer

Food- @ed Jerdr

House Rent - 57 @& famam Entertainment - A=

Child Education - s==if & Targ

Medical - garsar

The chart represents the domestic expenditure of a family per month. If the family income

is ¥ 33,650 then the total money spent by the family on entertainment and food together
per month is:

Expenditure of Family

wFood m HouseRert m Entencainment m Chid Education @ Medical m Provident Fund

ans X 111,144
X 2T11,442
X 3311414
v 1 T 11,441

Question ID : 9864493876
Status : Answered
Chosen Option : 4

Q2 cuo+H, - Cu+H,0 T8 THERT oo & ¥ formesT T 30T &

Cu0 + H, — Cu + H,0. This equation is an example of:

Ans Iq=dd
F !
Oxidation
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Question ID : 9864493349
Status : Not Answered
Chosen Option : --
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Q3 Ienfees FeffaoT (taxonomy) & Feffetor Fr FeT gFE FAT F 2
What is the basic unit of classification in taxonomy?

Ans x . $H
Order

X2 =i
Genus
IiER

. Family
el

' Species

X3

v

Question ID : 9864493315
Status : Answered
Chosen Option : 4

Q4 7 REfia #1 A Fa¢ SEH FA F FROT HARDF GH TEA o9 22

Name the vitamin whose deficiency causes excessive bleeding?

Ans x fafaa B
1.
Vitamin B

Ta@a A
X2

Vitamin A
x&ﬁaﬁﬁrc
Vitamin C
Faf@a K
Vitamin K

v

Question ID : 9864493436
Status : Answered
Chosen Option : 4

Q.5 v Trg # 10 WM T Biwd SIS AT TH BeAe SF H TEA HE W @M
ST 1Al o w g # gl so ¥deer & & wiafew S g v s 2

An object is placed on the principal axis of a convex lens of focal length 10 cm. If the
distance of the object from the lens is 30 cm, what is the distance of the image formed?

Ans *
X1 20 BEHRET

20 cm
215 T
15cm
x 5 10 T
10 cm

30 FEHET

30 cm

X 4

Question ID : 9864493244
Status : Answered
Chosen Option :2

Q.6
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Question ID : 9864494002
Status : Answered
Chosen Option : 2
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feT 7T yom W W &Y it 97 w1 T A=ET wue & @ Si9-ar U
T F I & F o w=eT §

UVWXirYysieaagFmaads § B & aF 37 da1 7

EEGEUH

1.D, A 3T F & &= dar &1
2. C, B 3t F & &rr #7171

Consider the given question and decide which of the following statements is sufficient to
answer the question.

U, V, W, X and Y are sitting at a round table; who is sitting next to B?

Statements:

1. D is sitting between A and F.
2. Cis sitting between B and F.

&)
BT 917 5o &1 3} &7 & w1 3k 2 &=t gaea &

Both 1 and 2 are sufficient to answer the given question.

X 2
Rt T F R A F AT arar 1 ar & 2 gaeg 2

Neither 1 or 2 is sufficient to answer the given question.

K 3.

T aw wed 3o & F Rw 1 3%en 9Hea §, FalE 2 I e JEr
gl
1 alone is sufficient while 2 alone is not sufficient to answer the given question.

< 4
f&T 9T 9o FT I} & & TOIT 2 3050 9O &, SEiF 1 3T qAeg Har
gl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
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Q7

o F unh F FET s dw wmRe s W A g @ o § v
firmes forelTor & HNOT g &7

Lime water turns milky when carbon dioxide is passed through it. It is due to the
formation of:

x 1 aTw FElEe
Barium Carbonate

2 Fioe@H H=arEs
Calcium Oxide

s SRy FEAT
Calcium Carbonate

oA eSS FEAT

Calcium Hydrogen Carbonate

< 4

Question ID : 9864493492
Status : Answered
Chosen Option : 3

Q.8

Ans

w2018 ¥, T ey A (ServELa) F FiA ¥ s A 9
faerwe 1 37 A (FEFA) F T A fogea o e

As of February 2018, which Indian paediatrician has been appointed as the Deputy
Director General (Programmes) in the World Health Organisation (WHO)?

3 ¥R
Dr. Indira Hinduja

, ST TH. 3. qEE
Dr. SI Padmavati

, . HIfEAr T
Dr. Kamini Rao

<

x

FB Group:

SSC Railway GK Aptitude

Question ID : 9864492225
Status : Answered
Chosen Option : 4
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Q.9

Ans

T 9T Tededt S T A H{ To HT TE 9F F{ & B T (@) ey
T P TR T T HTEOT (I ) T

FEde:
Fo w2 T § | wei @i o

ey

1. Tefr wer wefr ¥ |
2 FT IS HAE |

Consider the given statement to be true and decide which of the given conclusion(s)
logically follow(s) from the statement.

Statement:

Some bugs are birds. All the birds are fruits.

Conclusions:

1. All the fruits are birds.
2. Some of the bugs are fruits.

| Fa Y 2 ST e g

| Only conclusion 2 follows.

, 1 3R 2 gt e
Both conclusions 1 and 2 follow.

|1 3T 2 gt Jegeor T F E

Neither conclusion 1 nor 2 follows.

4mﬁw&1m§ﬂmm%l

Only conclusion 1 follows.

v

x

x

x

Question ID : 9864494267
Status : Answered
Chosen Option : 3

Q.10 w= =afda 40 fretder wiy e & oify & e Ty HfeE 1 BT g

Ans

T ST g, SRk 36 Rreer 9t 5 @ a1fa & A gee W oaE S 3
e &7 & e ¥ W @ Hiftw A F 97 et gl (Rt @) @
FAT 82

A person driving at the speed of 40 kmvhr reaches office 1 minute early while he reaches 3
minutes late if driving at 36 kin‘hr. What is the distance (in km) that she is covering?

<0132
K2 28
o 324
< 430

Question ID : 9864492670
Status : Answered
Chosen Option : 1

QN
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Question ID : 9864493732
Status : Answered
Chosen Option : 2
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faw =1w = et (Answer figures) & ¥ = & 7% wee AR (Problem
figure) T o & Tt FTeT W wiataT T

Problem Figure

From the given four answer figures choose the correct water image of the problem figure.
Problem Figure

Ans X1-B
v2D
K3C
X4 A

Q.12 NTP 9T HE X & 10 IMH T HRAGH 5.6 AT T X &1 A0S AT F2T &2
The volume of 10 g of gas X is 5.6 litre at NTP. What is the molecular weight of X?

Ans x 1. 20
V' 2 40
< 3.50
< 4. 60

Q.13 ofy v e & Ame, mﬁ:mr&ﬁragm:aér A B cEEr R I st A B

Question ID : 9864493127
Status : Answered

Chosen Option : 4

Question ID : 9864492597
=9:8%, @B : CHFATEEM Status : Not Answered

If A, B and C are denoting Mean, Median and Mode of a data and A : B =9 : 8 then the
ratioof B : Cis:

Ans X 1.5:4

X 28:9

X37:6

\’4-4:3
Q.14msﬁ%§mﬁﬁmmﬁmﬁmm&aﬁﬁaﬁﬁﬁa§ﬂ{{m

] tion ID : 9864493254
T Y e R FEET A T T ar Question

Iron which resembles Cobalt and Nickel in properties has been placed far away from these B L S
elements. This was one of the limitations of: Chosen Option : --

e e A s
Mendeleev’s periodic table
X2 galleR & T3
Dobereiner’s triads
. Iy AEa TR
| Moderm periodic table
| TIFISH # 3l fFaH

Newlands® law of octaves

Chosen Option : --

x

v

Q.15 F=r 3331 AR 11 & Aew== 27 aF © F7 T A9 F=2r 2
If the number x3331 is divisible by 11, what is the face value of x?

Question ID : 9864492684
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Ans x1_ 5
X 24
V2
X443
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Status : Not Answered
Chosen Option : --

Q.16 g & & FAL 2018 & Tgell A WIS T gt sfagd = fear?

‘Which team created history by winning the Ranji Trophy for the first time in January
2018?

Ans ﬁaﬁ.
v

Vidarba

X2 Hifger
Odisha

x qf9erd S9mer
West Bengal

Exe)

< 4
Kerala

Question ID : 9864492400
Status : Answered

Chosen Option : 1

O Dafaf@T w7 7 ¥ e feg &1 9399 F:1

| T )

1 2 3 4

Select the odd figure out of the following series.

[T [])
1 2 3
Ans x11

<22

<34

V3

Question ID : 9864494306
Status : Answered
Chosen Option : 3

Q.18 =TT HcAWEIE W Ogel, TURUT & {&aeT ' ThiSar qumel st 39T o,
s vk drem ogfF & o et & ST ST 9
Before Champaran Satyagraha, the farmers of Champaran used to follow the

‘panchkathiya’ system, whereby five katthas of land in a bigha had to be planted with

Question ID : 9864492105
Status : Answered
Chosen Option :2

FB Group: SSC Railway GK Aptitude
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=<
X 4

jute

Q.19 AT & T Fedie A, T g Jer & 3 F Wl #K e v
s & e ¥ | 7fy i Fr T W oA F IR0 =0T ¢ F A 3
T T TGEATFIOT F FHNOT =0T el g

Consider a hypothetical planet with a mass equal to half that of Earth and radius is one-
third that of Earth. If g is the acceleration due to gravity on Earth, the acceleration due to
gravity on the planet will be:

Ans & 4. (5/2) g
vz (92)g
X3 (12)g
K4 (32)8

Question ID : 9864493440
Status : Not Answered
Chosen Option : --

Q.20 B & & &7 @ 39 ¥ PR = & g & @ yatates sEr )
. Question ID : 9864493660
' Status : Answered
A7, aTe, yy Chosen Option : 4

Which of the following Venn diagrams correctly represents the following classes:

Lion, Tiger, Animals

Ans x1@ O

X

©

W 4

Q.21 Ry 7w JFaey W TR # A o7 F F & % At 7 @ FF @ )
. Question ID : 9864494270
fafea & @
Status : Answered
Chosen Option : 2
EEG R

TF T H O A A I F - o R

o

ATgamy:
1. 3TeETHT @== 78T 2
2. &rT =Eer ¥ B s dar 5w S

Consider the given statement and decide which of the given assumptions is (are) implicit.

Statement:

‘Triple your money in one year’ — an advertisement.

Assumptions:

1. The assurance is not genuine.
II. People want their money multiplied.

Ans x1.3-El?~|'3=|1u_-EIT-IT1ﬁ-'I1%Fr§'I

Only assumption I is implicit.

FB Group: SSC Railway GK Aptitude Telegram Channel: t.me/ssccglinfo\
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1 3R 2 =t fafga =@t 8
Neither assumption I nor II is implicit.
| e e 2 AR g
Only assumption IT is implicit.
1 4R 2 g fafed &

Both assumptions I and II are implicit.

<

v

x

Q.22 i e e FE # ad A Ak 9 B o B e @ #e § G Question ID : 9864493643
THEIT & W 9rel &7 W@ E " e
Status : Answered
Chosen Option : 4

HRw 30 gooaTst ¥ geoErs geA Fi §

ot
1. w=fr gigaew =fea seee £
2. wfaw gfew= 8

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements
Sachin is a good batsman. Batsmen are intelligent.

Conclusions

1. All intelligent people are batsman.
2. Sachin is intelligent.

Ans x1.
s 1 3k 2 =T =1 9reT 2 @ 2

Both 1 and 2 follow.
X2
T ar 1 & 3T 7 & 2 37 9T & W& E

Neither 1 nor 2 follows.
3 Faor TsEY 1 & 9T @ T B
Only conclusion 1 follows.

4_aa—c|?~rﬁ'|wﬁu‘f2a;rmﬁﬂa’rm%l

Only conclusion 2 follows.

v

Q.23 PrRfaa gEen &, wo R (?) g REmr amar 3R ey & Re

— e . tion ID : 44941
- & , R —— Question 9864494196

Status : Answered
Chosen Option : 2

Q,N,KH,?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing letter from the given options.

QNKH?

Ans X 1O
v2E
X3 A
X4F
Q.24 AEg=aaT w1 WAYTE geuAT 14 § 3T g &1 1 §) st &

et S et Question ID : 9864493428

Atomic mass of Nitrogen is 14 and that of Hydrogen is 1.What will be the molecular mass Szl sl e
of Ammonia? Chosen Option : 3

Ans o 1.17

FB Group: SSC Railway GK Aptitude Telegram Channel: t.me/ssccglinfo\
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<218
<315
<416
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O T g H
24 +-(19—-9+-3x9)=?
Solve the following:
24+(19—-9+3x9)=?
Ans X1 _ 4
xX23
X3 6
vi-3

Question ID : 9864492719
Status : Answered
Chosen Option : 4

Q.26 m T ﬁ'

123 +123+1.23+0.123 +0.0123 =?
Solve the following:

123+ 123+ 1.23 + 0.123 + 0.0123 =7
Ans 2 1.136.653

X 2.136.7760

X 3.136.7659

v 4. 136.6653

Question ID : 9864492760
Status : Answered

Chosen Option : 4

Q.27 v uwifr 5 %1 @romer =S W 3% a9 F 3T H For $2,790 & Fer

¥ frder & o ofr et o
At 5% simple interest per annum a certain sum yields a total amount of ¥ 2,790 at the end

of 3% years. The sum invested was:

Ans  of 1 Z2,400
X 2 2,350

X 32,600
X 4 T2,550

Question ID : 9864492927
Status : Answered
Chosen Option :1

Q28 afE L AT +, M A —, N AT x 3T P A1 =, aF sNOLGOP3IM13=2

If L stands for +, M stands for —, N stands for » and P stands for —, then SNOL 60P 3 M
13=7

Ans o 1 79
#2103
# 395
< 489

Question ID : 9864494349
Status : Answered
Chosen Option : 1

Q.29 wralr 2018 #, e Usw W@N #F= F fav Fw wfaw aidgs sfewar &
‘Aresic UoEus & oF vdwsT & &9 # AfdAg Bar smar a7

As of February 2018, which famous Bollywood actor has been named as the brand
ambassador of ‘Resurgent Rajasthan’, a state government campaign?

Ans
x 1 AT ==
Amitabh Bachchan

FB Group: SSC Railway GK Aptitude

Question ID : 9864492291
Status : Answered

Chosen Option : 1
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Q.30 wer w3, 50 9 3T 25 48 3 7o R &1 74 93.75 T4 § AR Fevehr e A
FAA 31 4: 5 §| Tedeh T 3 e 1 HEAT A1 IT=1e |

Some one rupee, 50 paisa and 25 paisa coins make up rupees 93.75 and their numbers are
in the proportion of 3 : 4 : 5.Find the number of each type of coins?

Ans  of 1. 45,60, 75
X 2. 46, 58,75
< 3. 40, 70, 75
X 4. 42,56, 70

Question ID
Status
Chosen Option

19864492485
: Answered
1

‘Alone’ is related to ‘Unaccompanied’ in the same way as ‘Amount’ is related to
Ans CEC)
F !
Solitary

Secluded

X o
'Quake

REmT
Quantity

<2

g

Question ID
Status

Chosen Option :

19864494064
:Not Answered

Q.32 gfy fFdr 3radel E90T 9T H9dd @ T 30° @7 af 9Uade & hIuT &1 Al
T gem?

If the angle of incidence formed on a concave mirror at a point is 30° then the angle of
reflection will be:

Ans X 1.15°
v 2.30°
X 5.90°

Q.31 B3 yoT THEE T ¥ #ET ¥, 5 YT AT ¥ gaftE &
X 4 60°

Question ID
Status
Chosen Option

19864493485
: Answered
12

Q.33 zrer & 3 Trwe aET AU e deyr fregse & =0 83 &
T F FRAT 70T AT
Who has recently taken charge as the new CEO of Indian e-commerce giant Flipkart?

Ans x 1 HRE. A
RC Bhargava

T AT
X2
AL Rajwani

p 3
Sunil Duggal

FB Group: SSC Railway GK Aptitude

Question ID
Status
Chosen Option

19864492308
: Answered
1
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v & 3 o

Kalyan Krishnamurthy

Q.34 wralr 2018 ¥ feoelr Fr v &7 Tl Tl & Ao #iv &2
As of February 2018, who owns the Delhi-based IPL team ‘Delhi Daredevils’?

Question ID : 9864492169
Status : Answered

Eﬁi?"' HagdreT Chosen Option : 4
Virender Sehwag
AMETT WA
" Shah Rukh Khan
fRrear o
’ Shilpa Shetty
SILUA.AN. §Hg
. GMR. Group

Ans

r 0

<

x

QR ma R TR R IR Tvo d F ma s scR ea F v ra # & ) .
S s Question ID : 9864493678

Status : Answered
# Y 7 HIE FR FT GLET? Chosen Option : 1

FU:
1. fFa ¥ & 18 Td ¥ B W 15 IETET F TESA AT
2. fARaa §9 & 16 371 & dIg W 19 I & G 41|

Consider the given question and decide which of the following statements is sufficient to
answer the question.

When did Mr. Y purchase his car?
Statements:

1. Certainly before 18® August but not before 15™ August.
2. Certainly after 16® August but not later than 19% August.

Ane (La’l?ﬁaazﬁm IR 2 AT ¢
Both statement 1 and 2 are sufficient

Ir af YA 1 g & Ar 2

Either statement 1 or 2 is sufficient
X3
IFAT FYF 2 TATTT § TR AT 1 FAS AT &
Statement 2 alone is sufficient while statement 1 alone is insufficient
X 4
IFAT FAF 1 AT T FGTH 7FT FUS 2 HUATT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

~ 2

Q.36 3r waor WSt F & v H gaT, gEl H goe & S B gF v e
Wﬁ#mmmg,mmsdﬁﬁhaﬁmwm&sdﬁ

# @ ¥ F W TS ¥ FH g8 ST ST &AW G ¥ # wEE ey Status : Answered
F BT fhae O @ aET fEr S Chosen Option : 3
One of the two inlet pipes works twice as efficiently as the other. The two, working

alongside a drain pipe that can empty a cistern all by itself in 8 hours, can fill the empty
cistern in 8 hours. How many hours will the less efficient inlet pipe take to fill the empty

cistern by itself?
Ans x 1.8
K26
V312
X 410

|Q.37 [ ]

FB Group: SSC Railway GK Aptitude Telegram Channel: t.me/ssccglinfo\
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Question ID : 9864494072
Status : Answered
Chosen Option : 1

Question ID : 9864492598
Status : Answered
Chosen Option : 3

6.4 cm
v 6 TEHE
Q-39 RoafaflT & ¥ Sl o7 Aol = #T Sia 781 87
Which of the following is NOT a renewable source of energy?

6 cm
Ans |ir F=r

Question ID : 9864493566
Status : Answered
Chosen Option : 3

F !
Solar energy

) AT ST
| Geothermal energy
| Shremes @ BT

Energy from fossils
, T
Wind energy

x

v

x

Q.40 4% =TT \raMOT SO #T T W T 1250 T AN T 6 Iuf F = AT
grme

The interest on T 1250 for 6 years at the rate of 4% simple interest per annum will be:

Ans X 1. F 350

Question ID : 9864492807
Status : Answered
Chosen Option : 2

v 2 300
< 3 T 360
X 4 T 375

Q.41 afy gor erarer Hisr b S T AT A § 3 5 T 1 mL A gTsgeeiiG I
Toromer &, & & Far &g

If we take a small amount of washing soda and add approximately 1 mL of dilute
hydrochloric acid to it, what will we observe?

Ans

Question ID : 9864493090
Status : Not Answered
Chosen Option : --

afy & =% g@er #r 3w wH A B A & gv ot ¥ 109 98 & & 5ar
g FT gem?
R+JM28#QR?+0@7F3
If the given series is written in the reverse order, then what will be the 5th term to the left
of the 10th term from right end?
RHIM2$HQR?*O@TF3
ans X 1.0
X2+
K37
v4F
Q.38 gt geat r = 3.5 FEHR, 4.5 FEFT sk 3o Faf 3 S Frgd 10 Fe
At T TATT TR i wars A Fifew
Find the length of a transverse common tangent of the two circles whose radii are 3.5¢m,
4.5cm and the distance between their centres is 10cm.
Ans
x 18 T
3 cm
x 2 36 HEHT
3.6 cm
x 5 64 AT

FB Group: SSC Railway GK Aptitude
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=T LT Fr FoIoe g AT ¢
White-coloured precipitate is formed.
4. o T A Fegeree & Ty A 2|
| CO, gas comes out with brisk effervescence.
N T s eafer & | H, 3 Aeedr g

<
H, gas comes out with pop sound.

X4
el SErETERToT 3THEIT 2 &, S Y e
Only neutralisation reaction occurs, no gas is released.

x

www.facebook.com/superpathshaIaA

Q.42 T=fafaa & @ =9 @ fHeew 2T oiw R & g gdor vfafde & g 272

WESTERN

‘Which of the options depicts the correct mirror image of the following figure.

WESTERN

™ X NH3LSIM
x> WESTERN
v:-A3T23IW
<+ ME2.LEBW

Question ID : 9864494038
Status : Answered

Chosen Option : 3

Q43 pfy golgor 4x + 3y + 5 =0 W 6x-ky- T = O T FS A A ST ATk
& Hed e g

If the equations 4x + 3y + 5 = 0and 6x - ky- 7 = 0 have no solution, then the
value of k is:

Ans x1. -8
X238
Vi-45
X445

Question ID : 9864492916
Status : Not Answered
Chosen Option : --

Q44 P, s 1 Al F gholld IF & Jell ¢ | P 50 &9 & S & Haw @A &7

P is S°s mother’s only son’s wife. How is P related to S?

Ans X1 3

" Mother-in-law

v Tl st /@Tel/ Srare Za=T
Sister-in-law

CRE

Sister

T

Daughter-in-law

< 3.

X 4

Question ID : 9864494359
Status : Answered
Chosen Option : 1

% srnfeas aqur T ¥ -
Non-metallic character increases from

Ans x1_ﬁ=:ﬂf51'aﬂaerﬁﬁtmaa?

Magnesium to Barium

FB Group: SSC Railway GK Aptitude

Question ID : 9864493493
Status : Answered
Chosen Option : 2
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V2 Afzaw ¥ Fald de
Sodium to Chlorine

x5 geETH ¥ HfeTH7 OF

Potassium to Caesium

HFIS § TlTd a

Oxygen to Selenium

X 4

Q.46 71 o fF T Rt & & vl & TEY v TAS Yoot T AERT A

¥ 57 Rwew & 9 S FT B # B o we B (?) #r aea Question ID : 9864494233
3 Status : Answered

Chosen Option : 4

9 15
10 10
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

15

9
10

10

A B

Ans & 4. 63

#2100

X117

v 478
T T T H HER 398 aheT #T | Question ID : 9864493462

Status : Answered
Wﬁm hl 'Hlé‘ﬂm m % | Chosen Option : 4

Fill in the blank with the most appropriate option.

The Universal Constant of Gravitation is
Ans X' 1.9.8 Nm? /kg?
& 2.6.76 X 1071° Nm? /kg?
V'3 6.67 X 107! Nm?/kg?
X 4.6.67 X 10*° Nm? /kg?

Q.48
Question ID : 9864493862

Status : Answered
Chosen Option :1
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99T BT (problem figure) & & 71§ TR 3cat ST (answer figures) § &
e v & wiowfze &1 T ofy & e w6 oy =)

Problem Figure

N

Answer Figures

A B C D

The problem figure is embedded in one of the four answer figures. Choose the correct
figure containing the following figure.

Problem Figure

A

Answer Figures

B c D

Ans (1(:
X2D
X< 3B
KA

Www.facebook.com/superpathshalaﬂ

Q.49 T fosmmrg & 15% =idr 1 fhareng & foneh om0 & afy 51 o =y & A
gL urg B AT @ A7

15% of an alloy was silver. If in a quantity of alloy there was 51 g of silver, what was the
quantity of the other elements in the alloy?

Question ID : 9864492666
Status : Not Answered
Chosen Option : --

Ans . 2809MH
W
289g

204 9MH
X2
204 g

300 9MH

3.
23 200 g

340 IATH
< 4
340 g

Q.50 TSI 1 SeH 5 SeAadl 2015 B GIT O Sk ol F SH 3% 553 Rl F aw gl
thet o1 Sled R arli w garm w?

Aizaz was born on 5% January 2015, while Faiz was born 553 days later. On which date
was Faiz born?

Question ID : 9864492713
Status : Answered
Chosen Option : 2

Ans
12 Elc‘vllé 2016
F ! 2

12% July 2016
u Sels 2016
1% July 2016
9 Sells 2016
' o July 2016
10 Sells 2016
10% July 2016

v

x

x

Q.51 [
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76 T 9fay o $1 1y & Io= T v &7 450 HieT o9 e F
27 s # 9K W A &1 I d oS o 87

A train travelling at 76 km/h crosses a 450 m long platform in 27 seconds. What is the
length of the train?

Www.facebook.com/superpathshalaﬂ

Question ID : 9864492850
Status : Not Answered
Chosen Option : --

Ans
X1 130 #Hrex
130 m
, 110 Hrex
110 m
x 3 100 #Hrex
100 m
v 120 #Hrex
120 m

x

Q.52 faw 71w famredt # & wfla oreg &1 =g &

afg FROG : 9268, RANG : 2538, & FORT &I & &7 #F geor fear
)

Question ID : 9864493869
Status : Answered
Chosen Option : 4

Select the related word from the given alternatives:

IfFROG : 9268, RANG : 2538, then FORT is coded as

Ans X 19327
X 29762
X 3 9672
v+ 9627

Q.53 P F T = @ o 3k e e =t ¥ seuew A 2
Which of the following reproduce both, sexually as well as asexually?

Question ID : 9864493437
Status : Answered
Chosen Option : 4

Ans 1 T (Algae)
Algae
chdeh
 Fungi
grssr (Hydra)
3. Hydra
THIET
* Amoeba

K2

v

p

4% S| SRS FT AR FT &
The SI unit of weight is a:

Question ID : 9864493499
Status : Answered
Chosen Option :2

Ans ]Ilg:r
F !
Gram

<2

FB Group: SSC Railway GK Aptitude
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Q.55 FIeT & Tk IIET Far gl
is not an allotrope of carbon.

Ans x 1 ShAEeL Poldle

Buckminsterfullerene
X2 Gy

Diamond

Carbon Dioxide

Www.facebook.com/superpathshalaﬂ

Question ID : 9864493491
Status : Answered
Chosen Option :1

Q% g =T & Gy el 9T & AT

&
@@?@

C D

Fill in the missing space with the correct figure.

@ <

A B
Ans X1C

V2 A

XD
X+B

TS
C D

Question ID : 9864493679
Status : Answered
Chosen Option :2

Q.57 3 fgw arw Aofr # T = F T FE e @ ama Hi
EHI, FJK, GLM, HNO,

Select the correct option to complete the following letter series.
EHIL FJK, GLM, HNO,

Ans X 1. IMN

FB Group: SSC Railway GK Aptitude

Question ID : 9864494099
Status : Answered
Chosen Option : 2
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v 2 IPQ
X< 3 1QP
X< 4IRS

www.facebook.com/superpathshalaﬂ

Q.58 g fewerer et T AT A AT HUEHT S dTe Tgen Afgen

Ans

3R Tz TR i ¥ W 9 T s ¥

‘Who is the first female and the first ever Asian to become the Chief Human Resources
Officer of the Global Giant Unilever? She is incidentally an Indian.

x| T AR
Padmasree Warrior
, 3TeeT Sestt
Alka Banerjee
| Indra Nooyi
, o= A

Leena Nair

x

x

v

Question ID : 9864492254

Status
Chosen Option

: Answered
14

Q9 ary T TRUET 9acE Fahih e

Ans

The abszolute refractive index of air 1s:
< 1.1.03
# 2.1.00003
# 3.1.003
v 4.1.0003

Question ID
Status

Chosen Option :

19864493183
:Not Answered

Q.60 syl gty (TREE 2018 ®) TH 1y Fifg FE U=w ¥ i

Ans

Ram Nath Kovind, the Indian President as of February 2018, hails from which state?

-t
F !
Gujarat

s

EEIE)
Punjab
=T8T
X
Rajasthan
v TR geT
Uttar Pradesh

X2

Question ID
Status
Chosen Option

19864492387
: Answered
14

Q.61 21 a1z et @it & =t 3oy wA: 25 Mk 40 Wl F oW 3 E st v
mmﬂi‘gaéﬁ:airmziﬁﬁmsﬁmam&ﬁ&nqﬁmﬁw

& 3l Pt Tt Fr v Ty T R S a & ae e & e
FEET?

Two pipes fill a tank when working individually in 25 and 40 hours, respectively while a
third pipe can drain the filled tank in 16 hours. If all the three pipes are turned on at the
same time when the tank is empty, how long will it take to fill the tank completely?

Ans 15 e 18w
F !
15 days 18 hours
X2 PAT-C SR
2 days 1 hour
FB Group: SSC Railway GK Aptitude

Question ID :
Status :
Chosen Option :

9864492831
Not Answered
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. 16 T 169
16 days 16 hours

x41ﬁ?r?'aié:
1 day 7 hours

v

Www.facebook.com/superpathshalaﬂ

Q.62 g A U9 C & HUN W, 37 &y & =994 #1, 5w =79 B # we foeg
(?) & 9o S T 7

5 /1082 /& %N
1 8 5
A B c

Based on figures A and C, select the option that can replace the question mark (?) in figure
B.

ZANSVANIPEN

A B C
Ans X 1. 37

V2 41

X 347

X 4

Question ID : 9864494158
Status : Answered
Chosen Option :2

Q83 Jifrar FaAT e SR &
Kinetic energy 1s equal to:

Ans X' 1. Ma
«2. %mvz
X 3. mv
< 4. mgh

Question ID : 9864493182
Status : Answered
Chosen Option : 2

Q.64 39=amH "FETE=IET e & T P F Fes o@F F Higed HFEH [TEER
frer am

‘Which Kannada writer received the Sahitya Academy Award for his novel ‘Swatantryada
Ota’?

Question ID : 9864492262
Status : Not Answered
Chosen Option : --

Ans ( ) ﬂ?ﬁﬂ' TETEAT E'Fbﬁ'
Bolwar Mahammad Kunhi
X2 orlrer g
Girish Karnad
x o T TFEEA
C.N. Ramachandran
X 4 ﬁﬂﬁ'

Vaidehi

Q.65 fa o= & wed 3ugEd e o1 |

Ity v 9 1 AT (Genotype) tRr &, AT THEIUT (Phenotype)
g |

Fill in the blank with the most appropriate option.

Question ID : 9864493478
Status : Not Answered
Chosen Option : --

If the genotype of a plant is ttRr, the phenotype would be
Ans

FB Group: SSC Railway GK Aptitude
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o e 3 aher
Dwarf and Round
L
Tall and Wrinkled

x&a’lmaﬂtégﬂaﬁ

Dwarf and Wrinkled

x

x5 T 3T e
Tall and Round
Q86 o El?imh?»l' e sTET %'? Question D : 9864492580
. Status : Answered
Square root of 0.9 is equal to Chosen Option : 4
Ans  of 10,9487
X203
X 3.0.9463
X 4.0.03

Q.67 forg 9 Rymer 9§ & gore & SFEEar & gioed Iy ew 3@ 0w 37 !
° Question ID : 9864493861

Status : Answered

Ch Option : 3
Population osen Option

W population

155119611671188119912001

Population - ST=&&aT

The percentage increase in the population is highest as compared to that of the previous
year in the year:

Population

W population

195119611671158119912001

Ans  of 11961
X 21981
X 32001
X 41971

Q.68 forelt FATIGES $ UF HAT B A qAC TAHEHT ATAGA 24 T WA § D 0864492704
S s Revl & aEs F A 14 @ A Question ID :

tatus : Answer
Find the length of one side of a rhombus whose area is 24 cm? and the sum of the lengths SR SNEEe
of its diagonals is 14 cm. Chosen Option :2

Ans X1_4ﬁﬁ1’ﬂu

4 cm
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Question ID
Status

Chosen Option :

19864492935
:Not Answered

X2

Question ID
Status
Chosen Option

19864494370
: Answered
12

7 56, 84 3R 112 =7 9.7 e 22
The LCM of 56, 84 and 112 is:
Ans X' 1.210
V2 336
#3168
#4420

Question ID
Status

Chosen Option :

19864492922
:Answered

2

Q.72 7% W o Es FER FY A o # & sud a9 Rar mr sis
g e &1

GL
e oY Rrafiemmew o w12 & 90T F aemws & weldr fr #

31??11?":

1. oI 95 H g # A H 3w 3 A wd {1

2. 7E o A A0 & 99 T S = FH A F o o g
Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
A top university has reduced the syllabus of Mathematics in Class 12.

Assumptions:
1. Students can score more marks than before in Mathematics.
2. This has been done to reduce the stress and burden of the students in Mathematics.

Ans 1.13ﬂ¢2aﬁﬁr‘%r-r%

x , 6 TEANT
6 cm
3 5 TR
5cm
x 4 3 AT
3cm
Q.69 tgzz syt AT @ETST (pentadecagon) % Uit Fr T fRee BT &2
The number of diagonals in a pentadecagon is:
Ans x 1. 60
v 290
#< 330
K 4 45
Q.70 frw 7 o 3 FATAR =Iqeisr $ §Eam 1 Siaffteg #3 awr feeT & 774
Select the option that represents the number of parallelograms in the given figure.
Ans (1_ 4
X 21
X33
<

Both 1 and 2 are implicit

FB Group: SSC Railway GK Aptitude

Question ID
Status
Chosen Option

19864493719
:Answered
1
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FA 1R TH2 TR ?

Neither 1 and 2 is implicit
Faer A 1 fAfga &
3.

Only assumption 1 is implicit

43%?34@?11?2%1%?%

<

x

v
Only assumption 2 is implicit
O e § ¥ Fi o T=w o ¥ sy g2 Question ID : 9864492804
Which of the following numbers is divisible by 9? Status : Answered
Chosen Option : 1
Ans  of 1.12321

X 2. 45654
< 345678
X 412345

Q.74 f&r =T TeFdedl & HF AT & gof A Tg 97 #L & ST ¥ vy gegear

O SN - T ¥ Question ID : 9864493992
Status : Answered

TFAA: Chosen Option : 2
et A9 orer &1 P 9 Sl Bel TEAT 4T 2

o

1. T ¥ T 7
2. o B TET AT &1

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All apples are red. No red fruits are cheap.

Conclusions:

1. All apples are cheap.
2. Red apples are not cheap.

Ans x1_13ﬂ¢2aﬂ"r31§mwa§‘raﬂ?r%|

Neither 1 nor 2 follows.

e T 2 SHTEOT I
| Only conclusion 2 follows.

1 3R 2 @ iR T E
Both 1 and 2 follow.

) Faer frshy 1 TTEIOT FHAT g

Only conclusion 1 follows.

v

x

x

Q.75 fop=feiaa T guenHt F ¥ FuF @l 9 9= # % ey aw § aer )
° Question ID : 9864492124
ST &7
The tallest peak of which of the following mountain ranges is a mountain called ‘Guru Status : Not Answered
Shikhar*? Chosen Option : --
Ans faer Taa aen
0
Vindhya Range
x af¥esdt ure 9ad AEer
2.
Western Ghats Range
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Satpura Range
| IS T s
Aravalli Range
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